Managerial incentives
Answer: e  Diff: E


.
Which of the following is likely to encourage a firm’s managers to make decisions that are in the best interest of shareholders?

a.
Executive compensation comes primarily in the form of stock options.

b.
The state legislature recently passed a law that makes it more difficult to successfully complete a hostile takeover.

c.
Institutional investors such as mutual funds and pension funds hold large amounts of the firm’s stock.

d.
Statements a and b are correct.

e.
Statements a and c are correct.

Firm organization
Answer: e  Diff: M

.
Which of the following statements is most correct?

a.
Corporations are taxed more favorably than sole proprietorships.

b.
Corporations have unlimited liability.

c.
Because of their size, large corporations face fewer regulations than smaller corporations and sole proprietorships.

d.
Reducing the threat of corporate takeover increases the likelihood that managers will act in shareholders’ interest.

e.
Bond covenants are designed to reduce potential conflicts between stockholders and bondholders.

Net cash flow
Answer: d  Diff: M


.
An analyst has collected the following information regarding Gilligan Grocers:

· Earnings before interest and taxes (EBIT) = $700 million.

· Earnings before interest, taxes, depreciation and amortization (EBITDA) = $850 million.

· Interest expense = $200 million.

· The corporate tax rate is 40 percent.

· Depreciation is the company’s only non-cash expense or revenue.

What is the company’s net cash flow?

a.
$850 million

b.
$650 million

c.
$570 million

d.
$450 million

e.
$500 million

Retained earnings
Answer: e  Diff: M

.
Sanguillen Corp. had retained earnings of $400,000 on its 2001 balance sheet.  In 2002, the company’s earnings per share (EPS) were $3.00 and its dividends paid per share (DPS) were $1.00.  The company has 200,000 shares of common stock outstanding.  What will be the level of retained earnings on the company’s 2002 balance sheet?

a.
$400,000

b.
$500,000

c.
$600,000

d.
$700,000

e.
$800,000

ROA
Answer: d  Diff: E

.
A firm has a profit margin of 15 percent on sales of $20,000,000.  If the firm has debt of $7,500,000, total assets of $22,500,000, and an after-tax interest cost on total debt of 5 percent, what is the firm’s ROA?

a.
 8.4%

b.
10.9%

c.
12.0%

d.
13.3%

e.
15.1%

ROE
Answer: c  Diff: M

.
The Amer Company has the following characteristics:

Sales 
$1,000

Total assets
$1,000

Total debt/Total assets 
35.00%

Basic earning power (BEP) ratio
20.00%

Tax rate
40.00%

Interest rate on total debt
 4.57%

What is Amer’s ROE?

a.
11.04%

b.
12.31%

c.
16.99%

d.
28.31%

e.
30.77%

�.	Managerial incentives	Answer: e  Diff: E





The correct answer is statement e.  If compensation comes primarily from stock options, then the managers will be shareholders and will share the same concerns as other shareholders.  Therefore, they will make decisions that are in the best interests of shareholders, so statement a is correct. If it is more difficult for hostile takeovers to take place, managers will have less fear of being thrown out of their jobs. Therefore, they will be less concerned with the interests of shareholders.  Statement b is incorrect.  If institutional investors hold a large amount of the firm’s stock, they will like to have more say in the management of the company. (Some may even make sure that they get board seats.)  Since they are shareholders and have more influence, they will ensure that managers act in the best interests of shareholders, so statement c is true.





�.	Firm organization	Answer: e  Diff: M


�.	Net cash flow	Answer: d  Diff: M





NCF = NI + Depreciation and Amortization.





NI = EBIT - I - Taxes


   = $700 - $200 - Taxes


   = $500 – ($500 ( 40%)


   = $500 - $200


   = $300 million.





        EBIT = EBITDA – Depreciation and Amortization


        $700 = $850 - DA


$150 million = DA.





So, depreciation and amortization totals $150 million.





NCF = NI + DEP and AMORT


    = $300 + $150


    = $450 million.














�.	Retained earnings	Answer: e  Diff:  M


EPS = $3, but $1 per share is paid out as dividends.  This means that $2 per share is added to retained earnings.  Total amount retained is $2(200,000) = $400,000.  Add this to the amount already in the retained earnings account on the balance sheet and you get a total ending balance of retained earnings equal to $400,000 + $400,000 = $800,000.








�.	ROA	Answer: d  Diff: E


Net income = 0.15($20,000,000) = $3,000,000.


       ROA = $3,000,000/$22,500,000 = 13.3%.





�.	ROE	Answer: c  Diff: M


Calculate debt, equity, and EBIT:


Debt = D/A ( TA = 0.35($1,000) = $350.


Equity = TA - Debt = $1,000 - $350 = $650.


EBIT = TA ( BEP = $1,000(0.20) = $200.





Calculate net income and ROE:


Net income = (EBIT - I)(1 - T) = [$200 - 0.0457($350)](0.6) = $110.4.


ROE = $110.4/$650 = 16.99%.








